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REACTION FORCES:  

�Mc = 0 →5Ve − 10.1 = 0 → 𝐕𝐞 = 𝟐 𝐤𝐍 

�Mb = 0 →2.5 − 10.1 + 4Va + 2 − 4.3.
3
2

= 0 → 𝐕𝐚 = 𝟒 𝐤𝐍  

� Fy = 0 → VB + 4 + 2 − 10 = 0 → 𝐕𝐛 = 𝟒 𝐤𝐍 

� Fx = 0 → 𝐇𝐛 = −𝟏𝟐 𝐤𝐍 

INTERNAL FORCES: 

Stretch AB: 

𝐍𝐀𝐁 = 𝟎 𝐤𝐍;   𝐕𝐀𝐁 = −𝟒𝐤𝐍       4. (4 − x) + 2 − MAB = 0 →    𝐌𝐀𝐁 = 𝟏𝟖 − 𝟒𝐱 𝐤𝐍.𝐦 

Stretch BC: 

4 + 4 + NBC = 0 kN →           𝐍𝐁𝐂 = −𝟖 𝐤𝐍 

−12 + 4y + VBC = 0 kN →   𝐕𝐁𝐂 = 𝟏𝟐 − 𝟒𝐲 𝐤𝐍  

−4.4− 2 + 12y − 2y2 − MBC = 0 kN. m →   𝐌𝐁𝐂 = −𝟐𝐲𝟐 + 𝟏𝟐𝐲 − 𝟏𝟖 𝐤𝐍.𝐦 

MBC
max →

dMBC(y)
dy

= VBC(y) = 0 → ∄y ∈ (0,2) → MBC
max(y = 0) = 18 kN. m 

Stretch ED: 

𝐍𝐄𝐃 = 𝟎 𝐤𝐍;   𝐕𝐄𝐃 = −𝟐 𝐤𝐍  ;    MED = 2. (5 − x) →   𝐌𝐄𝐃 =   𝟏𝟎 − 𝟐𝐱 𝐤𝐍.𝐦 
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Stretch CD: 

𝐍𝐃𝐂 = 𝟎 𝐤𝐍 

2 − 10 + VDC = 0 kN   →      𝐕𝐃𝐂 = 𝟖 𝐤𝐍 

2. (5 − x) − 10. (1 − x) − MDC = 0 kN. m    →     𝐌𝐃𝐂 =  𝟖𝐱 𝐤𝐍.𝐦 
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